*ENG.LANG*

*STD.IV*

QUES.2) *Make 8 different sentences.*

1.) The box is too heavy for them to move.

2.) The box was too heavy for them to move.

3.) The cupboard is too heavy for them to move.

4.) The cupboard was too heavy for them to move.
5.)The table is too wide for me to move.

6.) The table was too wide for me to move.

7.) The desk is too long for me to move.

8.) The desk was too long for me to move.

QUES.3.) *Change the sentences like:*

1.) ¥*He was very sleepy.He could not keep his eyes open.*
Ans.He was too sleepy to keep his eyes open.

2.) *She was very old.She could not go out of her house.*
Ans.She was too old to go out of her house.

3.) *The boy was very young.He could not go to school.*
Ans.The boy was too young to go to school.

4.) *The man was very tired.He could not run.*

Ans.The man was too tired to run.

5.) ¥*We were very late.We did not see the football match.*
Ans.We were too late to see the football match.

6.) *The desk was very heavy.He could not lift it.*
Ans.The desk was too heavy to be lifted .

7.) ¥*The book was very big.It would not go in the desk.*
Ans The book was too big to go in the desk.

8.) *The tea was very hot.We could not drink it.*
Ans.The tea was too hot to drink.

QUES.4) *Change the sentences like: *
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a.) *The box was very heavy.We could not lift it.*

Ans.The box was too heavy for us to lift.

b.) *The book was very long.| could not finish it.*

Ans.The book was too long for me to finish.

c.) *The word was very long.l could not say it.*

Ans.The word was too long for me to say.

d.) *The work was very hard.They could not do it.*
Ans.The work was too hard for them to do.

e.) ¥*The suitcase was very heavy.we could not lift it.*
Ans.The suitcase was too heavy for us to lift.

f.) *The water was very cold . Sumati could not swim.*
Ans.The water was too cold for Sumati to swim.

g.) *The shirt was very small.Jlanak could not wear it.*
Ans.The shirt was too small for lanak to wear.

h.) *The waves were very big.They could not swim in the sea.*
Ans.The waves were too big for them to swim.

i) *The dog ran very fast.John could not catch it.*

Ans.The dog ran too fast for John to catch.

j) *The aeroplane flew very high.He could not see it.*

Ans.The aeroplane flew too high for him to see.
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